ST'STS'SS)

.

dWIo4u0) andanug

‘dWIojuo) 1q1ay

=
D100

6950

€S°419$D

V101

00°€SZ‘T$D

CRITTEETE
BlUB|d 3p ojuaiwuajuew A uoIsIAay

8950

2z0z/8/1€

€260 3D

Z3puewsal] 11000992191 150
SI[BIOW W)y jeqiuy| -

4950

7S'S6£9D

9€°755°6€9D

(s23uend A uosewes eied

Sesjog ‘eseig ‘o3y|nsig ap sauopig)
Z AT asnoy ysiy uopedequa
esed soynpoud op esdwo)

eoe/8/te

¢Z60 3D

S9pineuag snem odsppuely A¥00089£061T09

9950

60'9£$D

00'609°€$D

(anZeuquwa

9p BWS)SIS |2 U Ojudlwezioal
‘adeasa ap ease ua sejue|d

S€) 3p sayow ‘enge ap anbugy
U3 sayosed g ap uoezieas) 1
SSNOH ysi4 ua esnpepjos ap soleqes)

zoz/8/te

1260 30

Sowey odspuely oynesg 32000t££0STT09

29S0

LY'STSD

vZ'0z$D

00°£¥STSD

SauomedeA ap ajue)Sia augna
esed sejp 9 Jjod enue)sip ap OoRIAIBS

czoe/8/1e

6760 3D

uljeding eifopy oluojuy ueny 5000016£020t729

SEVYZ0ZSD

Z 3SNOH ysi4 ap soleqes) esed
BlI313.1194 3p |euaepy ap eadwo)

2zoz/8/te

6VTZ1Z

epejwn 6Z8EY00000T90r

ejuedwon A BUBpUag el1a)a.11a4

109

[9or

9or




